=L =

pX n+

1. T %4 W e b/ N B A L s T
2. i T 3% KR EAERT4—1

3. T 1 BRGNS Sf 34 3H 15HET
4. % A E 2 cHEBNA L SEB LML NEE L)




H T b/ VA R A L i T TEMRS RS P RR

= 4 15,390,100 RS}
T 4l ¥ 4 13,991,000 Ay

THE BiAE 24 %A & 1,399,100 5




B W

FEIL/NERBER M LBETISE No.
£ b1 5 = B B i il 4] i
RN X
I| #ETEHE 1] K 9,845,098
HHE T HEH 9,845,098
Hm
IR Y 496,048
B E g = 1,713,465
fe s By = 1,937,175
Fam 4,146,688
EFF 13,991,786
A EH KA (L FmE) SREES iUl ae 13,991,000
TH B Bl S AH 24 %R 1,399,100
WA (LEE) 15,390,100




B W

PEILNEREEE M LBETE

No. 2
% E7 i3] 2 Bifg i & ) i
I |BEITS
1 |[EERGETE 1 K 131,856
2 |NESETHE 1 = 9,536,952
3 sy 1 X 176,290
e 9,845,098




